

NATIONAL CENTER FOR MENTAL HEALTH

NOTICE OF AWARD

February 14, 2025

MARELCO TRADING CORPORATION

Tagpuan sa Villa Escudero, Lalig,

Tiaong, Quezon

Tel No.: 8710-1892; 0977-8201267

Email: marelcotrading.office@yahoo.com

Sir / Madam:

Please be advised that based on the results of the PUBLIC BIDDING conducted by the National Center for Mental Health for the SUPPLY AND DELIVERY OF EQUIPMENT, TOOLS AND PPE FOR PLANNING & DEVELOPMENT SECTION AND FACILITIES & EQUIPMENT MAINTENANCE SECTION CY 2024, the following items are hereby awarded to your company:

NO.	ITEM CODE	QTY	UNIT	ITEM/SPECIFICATIONS	UNIT PRICE	TOTAL PRICE
1	PT24- 02	4	piece	24 Ft. Fiber Glass Extension Ladder, extra heavy load bearing capacity up to 136 kg, fiberglass side rails, outside slide guides, steel swivel safety shoes with solid and non-skid rubber bases, aluminum rung locks, heavy duty steel guides. All weather high strength polypropylene rope ensures smoothness; hanging pulley device provides smooth extension. Heavy Duty. Branded Country of origin: Philippines Brand: Ridgid	32,500.00	130,000.00
2	PT24- 05	10	Set	Portable Hand Drill, Brushless Impact Drill, 18V 2.0Ah Li- Ion Battery, Charger Input: 220-240V~50/60HZ, 50W, No Load Speed: 0-450/0-1700/min, Impact Rate: 0-7200/0- 27200/min., Chuck capacity: 13mm, Torque Setting: 21+1+1, Max Torque: 25/40N.m (soft/hard), Max Drilling Capacity: 35mm for wood, 10mm for steel, 13mm for masonry. Heavy Duty. Branded Country of origin: Philippines Brand: Lotus	8,970.00	89,700.00
3	PT24- 07	10	piece	Heavy Duty Industrial Hand Riveter,190mm (8") 4 Nozzle, slim-nose design fits in difficult-to-reach places, spring loaded handle ejects rivet stem automatically, uses 2.4mm (3/32"), 3.2mm (1/8"), 4.0mm (5/32"), 4.8mm (3/16") diameter steel and aluminum rivets, Heavy Duty. Branded Country of origin: Philippines Brand: Stanley	900.00	9,000.00
4	PT24- 08	2	piece	Bolt Cutter 36" 12.7 mm (1/2"), hardened alloy steel jaws are designed and manufactured to ensure the longest possible blade life. One-step internal cam mechanism provides the quickest and simplest way to keep the cutting blades precisely aligned. Handles and grips designed to allow greater mechanical advantage for crisp, controlled cutting. Heavy Duty. Branded Country of origin: Philippines Brand: Ridgid	23,000.00	46,000.00

"There is no Health without Mental Health"

9 De Pebrero St., Brgy. Mauway, Mandaluyong City









5	PT24- 09	6	piece	Cable Stripping Knife Stainless Steel, size: 8"/200mm, thickness: 3mm, straight/curved blade, stainless steel blade that prevents rust and give strength, plastic blade cover, ergonomic handle. Heavy Duty. Branded Country of origin: Philippines	600.00	3,600.00
				Brand: Ingco Multifunction Clamp Meter AC DC Current and Voltage Tester Resistor Capacitance Frequency Temperature Multimeter with		
6	PT24- 11	2	unit	Case, AC/DC Current: 40A/400A, AC/DC Voltage: 600V/600V, Continuity: ≤30 Ω, Capacitance: 0 to 100.0 μF to 1000μF, Frequency: 5.0 Hz to 500.0 Hz, Max Wire Diameter: 30 mm (600 MCM), Weight: 283 g, Category Rating: CAT III	35,900.00	71,800.00
				600 V, CAT IV 300 V, Heavy Duty, Branded Country of origin: Philippines Brand: Fluke		
				Two-Way Radio (Walkie-Talkie) 400-470Mhz-professional		
7	PT24- 12	6	piece	FM transceiver, ultra-thin body design, ultra clear sound quality, high-capacity lithium-ion battery, 16 channel super receive, strong ant-interference the cable copy, signal prompt, scanning. Heavy duty.	1,000.00	6,000.00
				Country of origin: Philippines Brand: WLN KD-CI		
8	PT24- 14	3	unit	Vacuum Cleaner, combination vacuum & blower, compact (wet & dry & 500-800 watts). Heavy duty. Branded Country of origin: Philippines	4,400.00	13,200.00
				Brand: Lotus Socket Wrench 17 pieces set 1/2" Drive, solid black steel		
9	PT24- 15	3	set	professional tools, sockets 13 pieces (8,10,11,12,13, 14,15,16,17,18,19,21,22,24mm), 10" Quick Release Ratchet Handle, 5" Extension, 15" Flex Handle, 1/2" (F)*3/8"(M) Adaptor, 6 Points, Kit box for safe storage of power tool and all	6,000.00	18,000.00
				accessories. Heavy duty. Branded Country of origin: Philippines Brand: Stanley		
10	PT24- 16	4	set	Combination Close/Open Wrench, Combination Open Wrench Close Wrench set (8mm to 24mm). Heavy duty. Branded Country of origin; Philippines Brand: Stanley	5,000.00	20,000.00
11	PT24- 18	4	unit	Gauge Manifold Set, Large 2 3/4" diameter easy-to-read, 2 valve brass, high pressure and low pressure selectable, large easy-to-read color-coded dials, pressure in PSI, Temperature in °F for R410-A and R22, brand new, made of high-quality	3,200.00	12,800.00
				material for durability. Heavy duty. Branded Country of origin: Philippines Brand: Megatools		
12	PT24- 19	5	piece	Charging Hose 72" or 6 ft. for R-22 (Blue, Yellow, Red). Heavy duty. Branded Country of origin: Philippines	1,900.00	9,500.00
				Brand: Innerco Flaring Tools Swaging Ratchet and Tube Cutter for Air-		
13	PT24-	4	set	condition Refrigeration Tools, tools w/ Tube Cutter Swaging, (includes: swaging and flaring tools size 1/4, 3/4,	5,000.00	20,000.00
13	21	T	301	3/8, 5/16, 5/8, tube cutter small 1/8-5/8 cutting diameter 3-22mm) Kit box for safe storage of power tool and all accessories. Heavy duty. Branded	2,000.00	20 ₉ 000.00
				Country of origin: Philippines Brand: Asian First		
14	PT24- 23	5	set	Circular Saw 7- 1/4" 1300watts, 5800 min., 1 no load speed 290*150mm baseplate. Heavy duty. Branded Country of origin: Philippines	6,000.00	30,000.00
				Brand: Bosch		
15	PT24- 24	14	set	Hammer Drill 800watts, 0-48,000bpm; 20/16mm drilling diameter concrete; 40/25mm drilling diameter for wood; 13/6mm drilling diameter for steel. Heavy duty. Branded Country of origin: Philippines	9,900.00	138,600.00

			*				and the second second
	16	PT24- 27	4	set	Oxygen-Acetylene machine for cutting, with cutting kit, high quality regulator, high grade hose, oxygen and acetylene cylinder and tank. Heavy duty. Branded Country of origin: Philippines Brand: Harris	39,900.00	159,600.00
	17	PT24- 28	15	set	Hammer Drill, Cordless, 10mm (3/8") for steel, 21mm (13/16") for steel, 8mm (5/16") for masonry, 0-25,500 IPM, 0-1,700 RPM. Heavy duty. Branded Country of origin: Philippines Brand: Manta	9,900.00	148,500.00
	18	PT24- 	6	set	Finishing Sander 220watts 1400rpm 2800opm, Square type. Heavy duty. Branded	5,000.00	30,000.00
		50			Country of origin: Philippines Brand: Bosch		
	19	PT24- 34	71	piece	Plastic Tool Box 20" Heavy Duty. Country of origin: Philippines Brand: Ingco	1,985.00	140,935.00
	20	PT24- 35	70	pair	Safety Shoes with steel toe cap, leather, anti-static, steel mid sole, oil resistant, shock absorbent. Heavy duty. Branded. [Sizes: 6 (6), 7 (19), 8 (18), 9 (10), 10 (3), 11 (10), 12 (4)] Country of origin: Philippines Brand: YDS	3,500.00	245,000.00
	21	PT24- 36	30	pair	Welding Leather Gloves 17", made by heavy duty cowhide material, durable, heat-resistant. Features a cut, wing thumb, hide palm, protect hands from heat, sparks and slag. Branded Country of origin: Philippines Brand: Powerhouse	850.00	25,500.00
	22	PT24- 37	7	set	PPR Welding Machine / Pipe Fusion with control 1200watts with accessories and case 20, 25, 32, 40, 50, 62 mm diameter with control temperature. Heavy duty. Branded. Country of origin: Philippines Brand: Powerhouse	6,450.00	45,150.00
	23	PT24- 38	1	Set	Air Compressor 1 HP, 2-cylinder, 85 PSI 76 LTr capacity, dimension: 90*36*72cm, with hose, with hose clamp, with adoptor for hose Heavy Duty Country of origin: Philippines Brand: Vespa	26,000.00	26,000.00
	24	PT24- 39	6	pack.	3-piece High Leverage Pliers set, 6"-long nose, 7" diagonal plier, 8" combination plier Country of origin: Philippines Brand: Ingco	1,180.00	7,080.00
	25	PT24- 40	6	pack	4 pcs Cushion Grip Screw Driver Country of origin: Philippines Brand: Stanley	650.00	3,900.00
	26	PT24- 41	2	piece	Magnetic level bar 3 vials, 2 feet length Country of origin: Philippines Brand: Butterfly	750.00	1,500.00
	27	PT24- 42	6	Pack	Tough Case Tape Measure 8meter Country of origin: Philippines Brand: Stanley	400.00	2,400.00
	28	PT24- 44	30	pair	Cut Resistant Hand Gloves Country of origin: Philippines Brand: Ingco	400.00	12,000.00
Ì		· · · · · · · · · · · · · · · · · · ·			TOTAL A	MOUNT	₱ 1,465,765.00

You are hereby required to submit the following within ten (10) calendar days:

• Notarized Contract Agreement Form (Legal Size) for the PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF EQUIPMENT, TOOLS AND PPE FOR PLANNING & DEVELOPMENT SECTION AND FACILITIES & EQUIPMENT MAINTENANCE SECTION CY 2024

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II

Page 3 of 4

NOTICE OF AWARD – MARELCO TRADING CORPORATION
PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF EQUIPMENT, TOOLS AND PPE FOR PLANNING & DEVELOPMENT SECTION AND FACILITIES & EQUIPMENT MAINTENANCE SECTION CY 2024

LAHT

• Performance Security in any forms and amount stipulated below:

A.	Cash or Cashier's / Manager's Check issued by a Universal of Commercial Bank.			
B.	Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, That it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five Percent (5%) of the Total Contract Price		
C.	Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Thirty Percent (30%) of the Total Contract Price		

NOTE: Failure to provide any of the aforementioned requirements within ten (10) calendar days shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMHoA

CONFORME:

Authorized Representative (Name & Signature)

Date and Time